

Government of Maharashtra's Ismail Yusuf College of Arts, Science and Commerce Jogeshwari (East), Mumbai 400 060

Tel No. (Office) 022-28352881

Tele-Fax (Principal) 022-28202

No.IYC/2021-22/

Date: 15-12-2021

To, Institute of Distance & Open Learning (IDOL) Kalina, Santacruz, Mumbai- 400 098

Subject- Transfer Certificate.

Respected Sir/Madam,

With reference to your Transference Certificate Application, I state that the following student have taken admission in your Institution for the academic year 2020-21 in the class mentioned against their respective name. I am enclosing herewith list of student whose Transfer Certificate have been issued.

Name of Students	T.C. No.	Class to which Admitted
SARATE SHREYAS KAILAS (LALITA)	2018240750	M.COM

5.K. Sanate 1/1/2022. 0/8/9667502.

Government of Maharashtra's
Ismail Yusuf College of
Arts To as & Commerce.

Jogeonican (Lasy, Mambal -400 060.



UNIVERSITY OF MUMBAI

Institute of Distance and Open Learning

Dr. Shankar Dayal Sharma Bhavan,

Vidyanagari, Santacruz (east), Mumbai-400098

Application for Transference Certificate from the last attended College / University Department

From:

College Code: 279

Shri / Smt. /Kum. .

SARATE

SHREYAS

KAILAS

LALITA

(Surname)

(Own Name)

(Father's/Husband's Name)

(Mother's Name)

Residential address of

the student:

307/15, Dhondibhau Kamle Chawl, Kevni Pada, S.V. Road, Near Ganesh Mandir, Jogeshwari West, , 0, Andheri,

Mumbai Suburban, Mumbai, Maharashtra

Pincode: 400102

Contact no. 9819667502

The principal / head of the University Dept

(Full Name and Address of the last attended College / University Dept.): ISMAIL YUSUF COLLEGE,

Jogeshwari East, Mumbai

Sir / Madam,

I am to state that I have taken provisional admission to the M.Com. Part I class in Institute of Distance and Open Learning of the University of Mumbai on the basis of the No Objection Certificate dated Issued to me by the College / University Dept.

I attended the B.Com Class (Roll No. 2018016401462846) during the First/Second Terms of the Academic year 2020-2021 at your College and (passed/failed/was awarded A.T.K.T.) at the examination held by the University Dept. / College in May 2021 Examination (Seat No. 2149939)

My Date of Birth is 16/02/2001

I am enclosing the attested Xerox copy of the mark-sheets of the above mentioned examination/s.

I am to request to sent my Transference Certificate directly to the Director, Institute of Distance and Open Learning, University of Mumbai, Vidyanagari, Santacruz (East), Mumbai - 400 098 at the earliest.

Thanking You,

Verified by

Yours obediently

Date:



(Student's Signature)

Document printed on Mon Nov 08 2021 12:49:35 GMT+0530 (India Standard Time)



Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra), Jogeshwari (E) - 400060



University of Mumbai Transfer Certificate

PRN: 2018016401462846 Transfer Certificate Code : AFDKAIBKBJAHKIFGEDE Transfer Certificate Number: 2018240750

5 K Sanate

CERTIFIED that Shri/ Kumari/ Smt. **SARATE SHREYAS KAILAS** has been a student of **Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.**

• After Passing the **B.Com.** Examination in the year **2020-2021**, He has kept terms in the college as under;

 June
 to October
 (.....days)

 November
 to March
 (.....days)

 June
 to October
 (.....days)

 November
 to March
 (.....days)

- Hewould have been in the class if He had continued in this college.
- HePassed/ Failed/ ATKT at the T.Y. B.Com. Regular Rev16 Examination held in (March/October) 2020-2021.
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- His conduct and character are good.
- His Date of Birth in college register is 16 Feb 2001
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects :-
- He has satisfactorily carried out the practical work in Faculty of Commerce
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC.
- He belongs to Category: Scheduled Castes (SC) and Caste : CHAMBHAR (SC) as per record.

Date:

Forward with compliments to the Principal/Registrar_

Principalernment of Maharashtra's

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce mmerce.

Jogeshwari (East), Mumbai - 400 060.

Entered By :-

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.



Pending Demund Hetter Hade No. TO; Date: 10/12/2021. The Principal
Ternail Yusef Collège.

10-12- File No.: Sub: Application for College Transparent (extificate for Mumbai University. Respected Sir (Mam, With due respect, I with due respect, I wall like to state that, I am Shreyas Kailas Sarate. I have completed in Gradua - tion in the year 2021. I was a student of Commerce Department Therefore, I request you to Kindly issue a College Transparent Cortificate for Mumbai University at the ran tosi)-I shall be thankful to you for this. Yours Sincerely, Shreyas. K. Sarate S.K. Sworte. 9819667502.





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 10-Dec-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUI2090898
Category	BONAFIED NOC AND T C FEES
FIRST NAME	SHREYAS
MIDDLE NAME	KAILAS
LAST NAME	SARATE
DATE OF BIRTH	16/2/2001
GENDER	MALE
CATEGORY	SC
MOBILE NO	9819667502
COURSE	B COM
BONAFIED FEES, NOC FEES, T C FEES	100
Transaction charge	0.00
Total Amount (In Figures)	100.00
Total Amount (In Words)	Rupees One Hundred Only
Remarks	BONAFIED FEES, NOC FEES, T C FEES
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE
	TOPUT CO.



University of Mumbai **GRADE CARD**

CCF:0086:0160

Name

: SARATE SHREYAS KAILAS LALITA

Examination

: Third Year B.Com. (Semester-VI) (CBCS)

Held In

: MAY 2021

· 2149939 (PRN-2018016401462946)

Course Code	Course Title	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
83014	Commerce-VI	100	40	58	3.00	B+	7	21.00
83013	Business Economics- VI	100	40	62	3.00	Α	8	24.00
83001	Financial Accounting & Auditing IX- Financial Accounting	100	40	46	4.00	С	5	20.00
83007	Financial Accounting & Auditing X- Cost Accounting	100	40	64	4.00	Α	8	32.00
83015	Direct & Indirect Taxation Paper -II	100	40	56	3.00	B+	.7	21.00
83016	Export Marketing Paper-II	. 100	40	66	3.00	Α	8	24.00
	GRAND TOTAL	600		352	20.00			142 00

Sem. I CRED.: 20.00 SGPI: 4.30 Sem. IV CRED.: 20.00 SGPI: 6.05 Sem. II CRED.: 20.00 SGPI: 5.45 Sem. V CRED.: 20.00 SGPI: 8.55

Sem. III CRED.: 20.00 SGPI: 5.75 Sem. VI CRED.: 20.00 SGPI: 7.10

142.00

Remark: SUCCESSFUL

CGPI: 6.20

Result Declared On : JULY 20, 2021

DIRECTOR BOARD OF EXAMINATIONS AND EVALUATION





University of Mumbai **GRADE CARD**

CCF:0086:0177

Name

: SARATE SHREYAS KAILAS LALITA

Examination

: Third Year B.Com. (Semester-V)(CBCS)

Held In

: DECEMBER 2020

Seat Number : 1072687 (PRN:2018016401462846)



Course Code	Course Title	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
23114	Commerce-V	100	40	100	3.00	0	10	30.00
23113	Business Economics-V	100	40	75	3.00	A+	9	27.00
23101	Financial Accounting & Auditing VII-	100	40	53	4.00	В	6	24.00
	Financial Accounting	Province Province Province Province Province						
23107	Financial Accounting & Auditing VIII- Cost Accounting	100 care and a second care and	40	75	4.00	A+	9	36.00
23115	Direct & Indirect Taxation Paper -I	100 where the second s	40	65	3.00	А	8	24.00
23116	Export Marketing Paper-I	100	40	83	3.00	0	10	30.00
	GRAND TOTAL	600	None constitution of the second	451	20.00			171.00

Remark: SUCCESSFUL

SGPI: 8.55

Result Declared On: MARCH 02, 2021

BOARD OF EXAMINATIONS AND EVALUATION





University of Mumbai

ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

Student Id

DDA	/Don No	. No. Examination Seat No.						SEMES	TER: III			
	/Reg. No.	Examination Seat No.		Name of the Learner					Month & Year of Examination			
201803	6401462846	150	SARA	TE SHREYAS KA	ILAS LALITA		1.1		CTOBER 2			
Course Code	16	Course Title	Course		Grade		Credits	Grade	CG=	SGPI=		
UBCOMSSIII.1	ACCOUNTANCY AND FINANCIAL MANAGEMENT - III		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /		
\$\$			3.00	D		D	3.00	4	12.00	ΣC		
UBCOMSSIII.2 \$\$	FINANCIAL ACCOL	JNTING & AUDITING -I	3.00	A+		A+	3.00	9	27.00			
UBCOMSSIII.3 \$\$	COMMERCE - III		3.00	С		С	3.00	5	15.00			
UBCOMSSIII.4 \$\$	BUSINESS ECONO	MICS - III	3.00	D	that the	D	3.00					
UBCOMSSIII.5 \$\$	BUSINESS LAW - II	1	3.00	of C		C		4	12.00	5.75		
UBCOMSSIII.6 \$\$	ADVERTISING		3.00	В			3.00	5	15.00			
JBCOMSSIII.7	FOUNDATION COU	RSE - III				В	3.00	6	18.00			
\$\$		INOL - III	2.00	В	0	A	2.00	8	16.00			
	UCCESSFUL		20.00	Ea	rned Credi	ts: 20.00			ΣCG=	SGPI=		
SEM dits Earned = 20	SEMESTER I SEMESTER II Earned = 20.00 SGPI = 4.30 Credits Earned = 20.00 SGPI = 5.45			ESTER III	5.75 Credits Ea	SEMESTER IV		Overall	115.00 Grade =	5.75		

Place : Mumbai

Date: 27/11/2019

Chairperson, Exam. Committee

Seal of the College

Principal

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

PR	N/Reg. No.	Examination Seat No.					SEMESTER: IV				
20180	16401462846	150		Name of the Learner					r of Evans	in adda	
Co		130	SARA	SARATE SHREYAS KAILAS LALITA				Month & Year of Examination REGULAR MARCH 2020			
Course Code		Course Title	Course		Grade		Credits	Grade			
UBCOMSSIV.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - IV	Credits	TH/PR	IA	OVERALL	Earned (C)	Points	CG-	SGPI=	
UBCOMFSIV.2	FINANCIAL ACCOL	JNTING & AUDITING-II	3.00	В		В	3.00	(G)		ΣC	
UBCOMFSIV.3	COMMERCE-IV I		3.00	A+		A+	3.00	6	18.00		
UBCOMFSIV.4	BUSINESS ECONO	MICS - IV	3.00	C		C	_	9	27.00	1	
UBCOMFSIV.5	BUSINESS LAW - II		3.00	D		D	3.00	5	15.00		
UBCOMFSIV.6	ADVERTISING- II		3.00	С			3.00	4	12.00	6.05	
JBCOMFSIV.7	FOUNDATION COU	DOE 11/	3.00	В		С	3.00	5	15.00		
		RSE - IV	2.00	В		В	3.00	6	18.00		
emarks : S	UCCESSFUL		20.00		0	Α	2.00	8	16.00		
SEM dits Earned = 20	ESTER I	SEMESTER II	20.00		rned Credit	ts : 20.00			ΣCG= 121.00	SGPI=	
	SEMESTER V SEMESTER V SEMESTER V			STER III 20.00 SGPI =	5.75 Credits Ear	SEMESTER IV rned = 20.00	SGPI = 6.05		Grade =	6.05	

Place : Mumbai

Date: 27/07/2020

Chairperson, Exam. Committee



Seal of the College

Principal

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 50 3, #: O.229, \$: Carried Forward, /: Female



Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

SUBURBAN, HARDEVI SOCIETY, NATWAR NAGAR, JOGESHWARI EAST, MUMBAI, MAHARASHTRA 400060





Student Id

PROGRAMME	: BACHELOR OF COMM	MERCE		No. of Contract of			4 100		5	03325
								SEM	ESTER: I	
PR	RN/Reg. No.	Examination Seat No.		Name of	the Learner		М	onth & Yea	ar of Exar	nination
20180	016401462846	278	S	HREYAS KAIL	AS SARATE LAL	.ITA			BER 2018	
Course		Course Title	Course		Grade		Credits	Grade	CG=	SGPI=
Code		course ride	Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /
UBCOMFSI.1\$\$	ACCOUNTANCY AND	FINANCIAL MANAGEMENT - !\$\$	3	D		D	3			ΣC
UBCOMFSI.2\$\$	COMMERCE - I (BUSIN	NESS DEVELOPMENT)\$\$	3	The second			3	4	12	
UBCOMFSI.3\$\$	BUSINESS ECONOMIC	CS - I\$\$	3	A 6 to	4 4					20
UBCOMFSI.4\$\$	BUSINESS COMMUNIC	CATION - I\$\$			 					
UBCOMFSI.5\$\$	ENVIRONMENTAL STU	\$ %	3	<i>1</i> 03 9, F	ļ <u></u>	 				Eu eu eu

Remarks: UNSUCCESSFUL ΣCG= -SGPI= --20 Earned Credits: ---SEMESTER I SEMESTER II SEMESTER III SEMESTER IV Credits Earned = 5 SGPI = ---

F

13

A+

Credits Earned = ---

SGPI = ---

3

2

Credits Earned = ---

SGPI = ---

UBCOMFSI.6\$\$

UBCOMFSI.7\$\$

Place: Mumbai

Date: 22/01/2019

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

MATHEMATICAL AND STATISTICAL TECHNIQUES - I\$\$

Credits Earned = ---

FOUNDATION COURSE - 1\$\$

Chairperson, Exam. Committee



8+

2

SGPI =

7

14

Overall Grade = ---

Seal of the College

Principal

(Refer to grade table at the back)



Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)







Student Id 503325

- 100000	: BACHELOR OF COMM	HERCE						SEM	ESTER : 1	1	
	RN/Reg. No.	Examination Seat No.		Name of the Learner						mination	
2018	016401462846	C 1238	S.	ARATE SHREYA	S KAILAS LAL	ITA		ATKT MAR 2019 (100)			
Course	de Course Title		Course		Grade		Credits	Grade	CG=	SGPI=	
Code			Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	СхG	ΣCG /	
BCOMFSI.1\$\$	ACCOUNTANCY AND	FINANCIAL MANAGEMENT - I\$\$	3.00	D\$		D	3.00	4	12.00	 	
BCOMFSI.2\$\$	COMMERCE - I (BUSII	COMMERCE - I (BUSINESS DEVELOPMENT)\$\$		F F	7,						
BCOMFSI.3\$\$	BUSINESS ECONOMIC	CS - I\$\$	3.00	D	<u> </u>	D	3.00	4			
BCOMFSI.4\$\$	BUSINESS COMMUNI	CATION - I\$\$	3.00	D		D	3.00	4	12.00		
BCOMFSI.5\$\$	ENVIRONMENTAL ST	UDIES - I\$\$	3.00	D	72.2	D			12.00		
BCOMFSI.6\$\$	MATHEMATICAL AND	STATISTICAL TECHNIQUES - I\$\$	3.00	D	W. 12		3.00	4	12.00		
BCOMFSI.7\$\$	FOUNDATION COURS	F - I\$\$	A CHARLES OF THE CONTRACT OF T	A 3 47 47 A		D	3.00	4	12.00		
	The state of the	_ 144	2.00	B\$	A+\$	B÷	2.00	7	14.00		
	NSUCCESSFUL		20.00	Е	arned Credi	ts :			ΣCG= -	SGPI=	
SEM edits Earned = 1	7.00 SGPI = C	SEMESTER II redits Earned = SGPI =		ESTER III	= Credits Ea	SEMESTER IV	SGPI =	Overall	Grade =		

Place : Mumbai

Date: 26/04/2019

Checked By:

Anjal M.

Chairperson, Exam. Committee

TUSUF COLLEGE OF LEGISLATION OF THE PROPERTY O

Seal of the College

ixerchal

Principal

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



1

University of Mumbai

ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

Student Id 503325

PROGRAMME	BACHELOR OF CO	MMERCE							SEMES	TER:I	
PRN	PRN/Reg. No. Examination Seat No.				Name of the L	Month & Year of Examination					
201801	18016401462846 C 1094			SARA	TE SHREYAS KA	ILAS LALITA		ATK	т остові	ER 2019(:	100)
Course	4		1	Course		Grade		Credits	Grade	cG=	SGPI=
Code		Course Title	C	redits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /
UBCOMFSI.1\$\$	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT -	1	3.00	D\$		D	3.00	4	12.00	
UBCOMFSI.2\$\$	COMMERCE - I (BL	JSINESS DEVELOPMENT)	194 1	3.00	D		D	3.00	4	12.00	
UBCOMFSI.3\$\$	BUSINESS ECONO	MICS - I		3.00	D\$		D	3.00	4	12.00	
UBCOMFSI.4\$\$	BUSINESS COMMI	JNICATION - I		3.00	D\$		D	3.00	4	12.00	4.30
UBCOMFSI.5\$\$	ENVIRONMENTAL	STUDIES - I	Las.	3.00	D\$	12 17 - 3 18 18 ml - 31	D	3.00	4	12.00	
UBCOMFSI.6\$\$	MATHEMATICAL A	ND STATISTICAL TECHNIQUES	-Is	3.00	D\$	-22	D	3.00	4	12.00	
UBCOMFSI.7\$\$	FOUNDATION COL	IRSE - I		2.00	B\$	A+\$	B+	2.00	7	14.00	
Remarks : S	UCCESSFUL		Wang day of	20.00	E	arned Cred	its : 20.00			ΣCG= 86.00	SGPI= 4.30
	SEMESTER I SEMESTER II ts Earned = 20.00 SGPI = 4.30 Credits Earned = SGPI =		GGPI = Credit	SEM	ESTER III .	I = Credits E	SEMESTER IV	SGPI =	Overall	Grade =	D

Place : Mumbai

Date: 27/11/2019

Chairperson, Exam. Committee

Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)







Student Id 503325

PROGRAMME	: BACHELOR OF COM	MERCE						SEMESTER : II			
PI	RN/Reg. No.	Examination Seat No.	Name of the Learner					Month & Year of Examination			
2018	2018016401462846 278		Si	ARATE SHREYA	S KAILAS LAL	ITA	RE	GULAR M	ARCH 20	19(100)	
Course			Course		Grade		Credits	Grade	CG=	SGPI=	
Code	Course Title		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /	
UBCOMFSII.1\$	ACCOUNTANCY AND	CCOUNTANCY AND FINANCIAL MANAGEMENT - II\$\$		B+		B+	3.00	7	21.00		
UBCOMFSII.2\$	COMMERCE - I (BUSI	COMMERCE - I (BUSINESS DEVELOPMENT)\$\$		D		D	3.00	4	12.00		
UBCOMFSII.3\$	BUSINESS COMMUN	BUSINESS COMMUNICATION - II\$\$		F	//						
UBCOMFSII.4\$	BUSINESS ECONOMI	CS - II\$\$	3.00	D	197 St.	D	3.00	4	12.00		
UBCOMFSII.5\$ \$	ENVIRONMENTAL ST	TUDIES - II\$\$	3.00	с \$	(**	С	3.00	5	15.00		
UBCOMFSII.6\$	MATHEMATICAL AND	STATISTICAL TECHNIQUES - II\$\$	3.00	D		D	3.00	4	12.00		
UBCOMFSII.7\$	FOUNDATION COURS	SE - II\$\$	2.00	A	A+	A	2.00	8	16.00		
Remarks : L	INSUCCESSFUL		20.00	E	arned Credi	ts :			ΣCG= -	SGPI= -	
SEM redits Earned = 1	7.00 SGPI =	SEMESTER II Credits Earned = 17.00 SGPI =	SEM Credits Earned =	ESTER III	I = Credits E	SEMESTER IV	SGPI =	Overall	Grade =		



Place: Mumbai

Date: 12/06/2019

Checked By:

Chairperson, Exam. Committee

Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060





Student Id 503325

PROGRAMME	: BACHELOR OF CO	DMMERCE						SEMES	TER:II				
PRN	/Reg. No.	Examination Seat No.	ination Seat No. Name of the Learner						Month & Year of Examination				
201801	16401462846 C 2168		SARA	TE SHREYAS K	AILAS LALITA		ATK	т остов	ER 2019(1	100)			
Course			Course		Grade		Credits	Grade	CG=	SGPI=			
Code	Course Title		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	СхG	ΣCG /			
UBCOMFSII.1\$ \$	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - II	3.00	B+\$		B+	3.00	7	21.00				
UBCOMFSII.2\$	COMMERCE - I (BI	USINESS DEVELOPMENT)	3.00	D\$	1 1-4	D	3.00	4	12.00				
UBCOMFSII.3\$	BUSINESS COMM	BUSINESS COMMUNICATION - II		B+	1 -	B+	3.00	7	21.00				
UBCOMFSII.4\$	BUSINESS ECONO	DMICS - II	3.00	D\$	4.	D	3.00	4	12.00	5.4			
UBCOMFSII.5\$	ENVIRONMENTAL	STUDIES - II	3.00	C\$	7.50	С	3.00	5	15.00				
UBCOMFSII.6\$	MATHEMATICAL A	ND STATISTICAL TECHNIQUES - II	3.00	D\$	la serie	D	3.00	4	12.00				
UBCOMFSII.7\$	FOUNDATION COL	JRSE - II	2.00	A \$	A+\$	Α	2.00	8	16.00				
temarks : S	UCCESSFUL		20.00		Earned Credi	ts : 20.00			ΣCG= 109.00	SGPI= 5.45			
SEN edits Earned = 1	SEMESTER I SEMESTER II Earned = 17.00 SGPI = Credits Earned = 20.00 SGPI = 5.45		SEN 5.45 Credits Earned =	IESTER III SGI	PI = Credits Ea	SEMESTER IV	SGPI =	Overall	Grade =	c /			

Place : Mumbai

Date: 24/10/2019

Checked By:

Chairperson, Exam. Committee

Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

(Refer to grade table at the b